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?ﬁ&ﬂﬁﬂ?’ & ford e : Instructions for the candidates :
1. Witemef OMR WY UAE GT HUAT 1. Candidate must enter his / her

" §yT yfiawr FAF (10 H F)  Question Booklet Serial No.

vy ford | o ' (10 Digits) in the OMR Answer
Sheet. :
2. Wt  FerEvd ko Wﬁ'} "# & 2. Candidates are required to give their
Rl answers in their own words as far
. as practicable.
3. el &t gird W R4 g F quli# 3. Figures in the right hand margin
[l e B indicate full marks.

4. weAl @ ETF{E#%" ‘ifq"g‘# F fE_'.’Q' 4. 15 minutes of extra time have been
g teferar Ft 15 A &1 afifts a9g allotted for the candidates to read
far T 21 the questions carefully.

5. ¥E HvT gf{:_-{av“{ gt avgl #i’} —@vg-H 5  This question booklet is divided into

' v @ue-a| two sections — Sectlon-A and

Section-B,
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6. TUE-3r

o ey 70 T gy & fmd 6. In Section-A, there are
35 o=t ®T IT AT sfyard 70 objective type guestions, out of
®1 35 T R sifias . which any 35 questions are to be
HEH 35 7 & Tears AN answered. [ more than 35 questions
¢ i 4 then only first 35 will
%vlwﬁﬁﬁiﬁ are answered, then only Ju .
ferr 3gerar ®1 v 3w 4 & be evaluated. Each question carmes
g T ™y OMR IT{-U5F 1 mark. Darken the circle with blue/
7 R e Fraea =t Hiw / et black ball pen against the correct

T U @ TE ) et o gy option on OMR Arswe;msnz;
1 o
F WFEAT / AT wEnei o/ provided to you.

TG e whitener / liquid / blade / nail
— #T OMR 3w uwzm # etc. on OMR Answer Sheet,

AT BT B, s e otherwise the result will be
af¥vmrs 3= g invalid.

7. @UZ - T " 207g Fwg gy & | 7. In Section - B, there are 20 short
g & g 2 % Frifta &, fred answer type gquestions, each

. . carrying 2 marks, out of which any
I ﬂFfﬁ’ 10 mwEl & IV #‘g 10 questions are to be answered.
sfyard & | T T ave Apart from this, there are 6 long
6 20 Ferea woT Bd ma d AEE F

answer type questions,

each
e 5 aiw AR & fd @ fal carrying § marks, out of which any
) 27 aﬁaﬂf 2 -3 gquestions are to be answered.
3 mﬁi’ &7 Je o

- ¥ gﬁaﬁﬁﬁﬁ W ®I 8. ‘Use of any electronic appliances is
g. [fwal HFR T é;‘ ) strictly prohibited.

gus - 31 /| SECTION - A
a¥dfass 9T / Objective Type Questions

g2 FE&IT 1 ¥ 70 dod & A 92T & folv IR Qhew e s § Sad &

U HE § | I AN I AT e [ddwed @ OMR e X R |
MY 35 WRaAT & 3R oA & |

Question Nos. 1 to 70 have four options, out of which only one is

correct. You have to mark your selected options on the OMR sheet.
Only 35 questions are to be answered.
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1. Aefaa & Hid aRged ara Hr 7 e § 2
(A) #TEY S8
(B) =l af&eT
(C) T If_=T
(D) €T SffeT

Which of the following is the river basin of western India?
(A) Mahi basin

(B) Kosi basin

(C) Ganga basin

(D) Son basin

2. S0 AgeaqUl S 3cUlcsh &7 §
(A) 3@ Seer

(B) o Soer

(C) aMeraly Seer

(D) 359 & FIg et

The most important jute producing region is
(A) Ganga delta

(B) Krishna delta

(C) Godavari delta

(D) None of these
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3. STeTeEsT 9ETSl &
(A) Faleah H

(B) aM3T H

(C) R@Us H

(D) 3nf3em &

Bababudan hill is in
(A) Karnataka

(B) Goa

(C) Jharkhand

(D) Odisha

4. farafaf@a =3t & Sl aizaEr fger & fov gfaey § 2

Which of the following states is famous for Gondwana coal?
(A) Nagaland

(B) Tripura

(C) Tamil Nadu

(D) Jharkhand
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5. STTEEAT fIaX0T &l JHITdd e dTell Ha8 HAgcaqul SReh g
(A) TIeHid

(B) fAee

(C) grpfae geeafa

(D) Sterary
The most important factor influencing population distribution is
(A) Landform

(B) Sail

(C) Natural vegetation

(D) Climate

6. 3icIaNeoT & HlA-HT YU BT § ?
(A) STeT FqoT
(B) arg sieyyor
(C) eafey gy
(D) so1at & @l

Which pollution is caused by industrialisation?
(A) Water pollution.

(B) Air pollution

(C) Noise pollution

(D) All of these
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7. URIET 39T &
(A) TR 3ENeT
(B) FER 3T

(C) Ta=oe e
(D) 31 & @IS =TET

Handloom industry is
(A) basic industry
(B) cottage industry
(c) footloose industry

(D) none of these

8. 3T GRAT HR T dlel HedWoT H FFaletid fohdTehellal sl &gl STl &
(A) giddren fehdrehelrd

CIREGRERIETIE

(QECGURERICTIC]

(D) ST & @Ig =IET

Activities related to high degree and level of innovation are called
(A) Secondary activities

(B) Quinary activities

(C) Quaternary activities

(D) none of these
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9. 3R RA H =S &1 A& AT HieT g ?

(D) $1H | FIs Tl

Which is the main source of irrigation in north India ?
(A) Canal

(B) Tubewell

(C) Pond

(D) None of these

10. eAfaf@d @it A fraent "I R &gl Srar & ?
(A) @il 3 TEH

(B) 3%

Which of the following minerals is called 'brown diamond' ?
(A) Iron ore

(B) Mica

(C) Manganese

(D) Lignite
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11. fArafaf@a Ty & FIHA e ATRRT FT Sheg GTIT & ?

(A) 3 ger

In which of the following states Kaiga atomic power centre is located?
(A) Uttar Pradesh

(B) Maharashtra

(C) Karnataka

(D) Gujarat

12. oISl @iig 39%h &7 fhg ToT & AT § 2

In which state is Bailadila iron ore region located?
(A) Maharashtra

(B) Jharkhand

(C) Madhya Pradesh

(D) Chhattisgarh
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13. ShegeN Hawiler &7 fua &
(A) ALT geU H

(B) 3IRWs H

(C) 3nfaer &

(D) &ITe H

Kendujhar manganese region is located in
(A) Madhya Pradesh

(B) Jharkhand

(C) Odisha

(D) Chhattisgarh

14. =@ & #ia 3o F1 R-RERET aa § 2
(A) FrEer

(B) STt faegd

(C) &R Feir

(D) @fasT der

Which of the following is non-conventional source of energy?
(A) Coal

(B) Hydel power

(C) Solar energy

(D) Crude oil
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15. 2011 &1 STI9T0TAT & 3[HR SR T FAHEIT Helcd AT
(A) 1126 =afed / a3t el
(B) 1006 cafFa / @at fFar
(C) 906 =afd / aat fara
(D) 1106 zafdq / aof e

As per 2011 Census the density of population of Bihar was
(A) 1126 persons / sq.km

(B) 1006 persons / mg.km

(C) 906 persons / sg.km

(D) 1106 persons / sqg.km.

16. 81X H qUT SA910TAT Tgell SR & g5 oY ?
(A) 1881
(B) 1901
(C) 1781

(D) $TH & g LT

When was the first complete Census held in India?
(A) 1881
(B) 1901
(C) 1781

(D) None of these
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17. 2011 &I FHOET & HTAR HARA 7 AR 3EEr §
(A) 31.16%
(B) 35.16%
(C) 36.16%
(D) 37.16%

As per 2011 Census the urban population in India is
(A) 31.16%
(B) 35.16%
(C) 36.16%
(D) 37.16%

18. AFATATET & @ FleT HRA A J2Y YaIH I &I HROT & ?

(C) A 3R ISEIR
(D) &t

Which of the following is the main reason of male migration in India?
(A) Marriage

(B) Business

(C) Work and employment

(D) Education
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19. AEAfA@T Tl A fFashr 0-6 MY 9T A fomegard fAeAds & ?

Which of the following states has the lowest sex ratio in the age-group
of 0-6 years ?

(A) Haryana

(B) Guijarat

(C) Punjab

(D) Himachal Pradesh

20. 2011 &7 SO & IgER HAefaf@d Isat # @ fFad a9l
STTHEIT T 3He]uTd Halfees § ?
A

3

B

~

C) 3T

(
(
(
(D) e

)
)
)
)

Which of the following states has the highest proportion of urban
population according to 2011 Census ?

(A) Tamil Nadu

(B) Maharashtra
(C) Goa

(D)
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21. fafRa &t # Far Aieor & 99E FRoT §
(A) GRS 3Rt

(B) T SrqoTdT

(C) arg 3rRe=T

(D) f&ec &1 AT

Main cause of soil degradation in irrigated areas is
(A) Gully erosion

(B) Salinisation of soils

(C) Wind erosion

(D) Siltation

22. 2011 & SO & AR fhd AT AT SIAHEAT & Ueled TTH HH
2?2

(A) 3TUTTTS T2l

(B) HgTerd

As per 2011 Census which state has the lowest density of population?
(A) Arunachal Pradesh

(B) Meghalaya

(C) Kerala

(D) Assam
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23. 2011 6 ANV & HTAR RER A STerarear
(A) 10.41 F5
(B) 11.41 13
(C) 9.61 13
(D) 8.51 &5

As per 2011 Census the population of Bihar was
(A). 10.41 crores

(B) 11.41 crores

(C) 9.61 crores

(D) 8.51 crores

24. fFAtf@d Tsat 7 & forgehl STaaedr warfas g ?
(A) 3 T

(B) fegr

(C) ufR=# Famer

(D) HgRTSE

Which of the following states has the highest population?
(A) Uttar Pradesh

(B) Bihar

(C) West Bengal

(D) Maharashtra
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25. glfchodR Todletd §
(A) T &

(B) 3feaT &

(C) & &

(D) ®el UF Heoll A

Horticulture is related to
(A) flower
(B) cereal
(C) pulse

(D) fruit and vegetable

26. [ &A1 F FAAT IWEA F AT FROT §
(A) 3TTATTRT 3TIGT
(B) Ree-arATa

(C) a1y 39

(D) $TH & g LT

The main cause of soil erosion in arid areas is
(A) gully erosion

(B) siltation

(C) wind erosion

(D) none of these
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27. EfaroT 9Ra 7 w1 qTT AT HiT § ?

(D) $1H | FIs Tl

The main source of irrigation in South India is
(A) canal

(B) tubewell

(C) tank

(D) none of these

28. ORI ANHHRT Foll Fegr HAfeAd ¢
(A) 3R Yer #
(B) FERTSE H
(C) whelleeh &

(D) IoRTd H

Tarapur atomic power centre is located in
(A) Uttar Pradesh

(B) Maharashtra

(C) Karnataka

(D) Gujarat
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29. 39 (AT 3T GIfgH TFEUITEI helsl) T HEATeT Hal & ?

Where is the headquarters of OPEC (Organisation of Petroleum
Exporting Countries)?

(A) Vienna
(B) Jakarta
(C) Hanoi

(D) Geneva

30. i & IRy 3R 41 a9 g gfasg &F 339w ?

Village settled around a lake will come under which pattern?
(A) Rectangular

(B) Radial

(C) Circular

(D) Star
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31. AFIfaf@d # Fid Fqa@s FIRX § ?

Which of the following is a commercial city?
(A) Jerusalem

(B) Pittsburgh

(C) Beijing

(D) Amsterdam

32. 3R 3icdifeeh ART JAlsdr g
(A) 3T 3ARST A (T F
(B) 3 AT &l 3hIhT &
(C) TT = ufr &

(D) 31H & FIg Lt

North Atlantic route connects
(A) North America with Europe
(B) North America with Africa
(C) Europe with Asia

(D) None of these
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33. FAUEIAAT c@RT 391 3R H fohd YR T ¥ T faeer foam arar
qr?

Which type of cultivation was developed by the Europeans in their
colonies?

(

(B) Plantation farming
(C) Mixed farming
(

D) Viticulture

34. e Well T HY Fralotd ¢

Farming of citrus fruits is related to

A) Mixed farming

C

(A)

(B) Plantation farming

(C) Mediterranean agriculture
(D)

D) Co-operative farming
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35. faeafaf@a 7 & i 3iecforr $r Toreme § 2
(A) HeAsRT

(B) 3ErH 3dTET

(C) sfSier

(D) 9

Which of the following is the capital of Australia ?
(A) Canberra

(B) Addis Ababa

(C) Beijing

(D) Perth

36. 'Hefqare’ i AHAURVT H g €esh @l Hgeaqul AT AT § ?
(A) TPfas TeH

(B) AT "ch

(C) (A) T (B) gt

(D) 31H & HIg el

Which component is considered as important in the concept of
Possibilism?

(A) Natural component
(B) Human component
(C) Both (A) and (B)
(D) None of these
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37. A9 & g IaaEar a3 # FAafef@a & O sia &y aFafaa a8 &2
(A) gfR=#T J(q

(B) Gf&oT-qd wiREm

(C) Efaror-afRes 3nfisr

(D) 3oR-qd 3T AN

Which of the following regions is not included in the densely populated
regions of the world ?

(A) Western Europe
(B) South-East Asia
(C) South-West Africa

(D) North-East North America

38. AT T # &l Teh FAA-TUTATAYT Pl IIHY HRF gl o
(A) TEA-Tg FI ST g2Me

(B) 3eIbel STerdry
o BN P

(C) I&-TgsT &1 et gand
(D) enfa va TaRica

Which one of the following is not a pull factor of human migration?
(A) better living conditions

(B) Favourable climate

(C) Poor living conditions

(D) Peace and stability
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39. faeg & &g o fr FagEar gaifds § ?
(A) TIFd TST AR

Which country of the world has the highest population?
(A) United States of America

(B) India

(C) China

(D) Indonesia

40. PrAfafld & Fia vha F A& ¥ 2
(A) fAfaT HiY

(B) 30 iy

(C) QT FHiy

(D) =TI 3FelleT HiY

Which of the following is not monoculture?
(A) Mixed farming

(B) Dairy farming

(C) Plantation farming

(D) Commercial grain farming
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41. =aff@a & &I AUoT BT T8 § ?

Which of the following is not a plantation crop?
(A) Coffee

(B) Wheat

(C) Sugarcane

(D) Rubber

42. TOEJd IR IHeATol-3cUTeeh iy gl Hr Sl &
(A) I &

(B) ®&UIST &7 #

(C) uFarH &7

(D) 3T afd=T &

Extensive commercial grain farming is not practised in
(A) Prairies
(B) Steppes
(C) Pampas

(D) Amazon basin
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43. gaTel 3efareR geor #1 e §
(A) SITRIAT-gTasT

(B) reehrcr-AfqT

(C) reehraT-ReRT

(D) ShIelehTdT-shlesldlk

The nucleus of the Hugli industrial region is
(A) Kolkata-Howrah

(B) Kolkata-Medinipur

(C) Kolkata-Rishra

(D) Kolkata-Konnagar

44. SRT #H g ISAT FREHA TATRT g3 oA
(A) 1936 &
(B) 1911 &
(C) 1923 &
(D) 1927 &

The first radio programme in India was broadcast in
(A) 1936
(B) 1911
(C) 1923
(D) 1927
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45. ST I &I YT g5
(A) 1853 &
(B) 1753 &
(C) 1863 &
(D) 1760 #

Indian Railway was introduced in
(A) 1853
(B) 1753
(C) 1863
(D) 1760

46. T gaaT Iafeyd §
(A) el &

(B) 3nfsam &

(C) T &

(D) affereg #

Kochi port is located in
(A) Karnataka

(B) Odisha

(C) Kerala

(D) Tamil Nadu
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47. FI-5g AT &
(A) T HhAUT
(B) AFeSH MY
(C) 3faar

(D) eaTd«Tell MY

Waterborne disease is
(A) respiratory infection
(B) conjunctivitis

(C) diarrhoca

(D) bronchitis

48. FATA SIAEEIT drell Ao g &

The megalopolis having the highest population is
(A) Mumbai

(B) Delhi

(C) Kolkata

(D) Chennai
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Dharavi slum is located in
(A) Kolkata
(B) Mumbai
(C) Delhi

(

D) None of these

50. Te=Ifoi@d & Sl AT 3R 9RO & O 3d=g har &1 Fades
HgcdqUl R & ?

(A) AT Jefawar

(B) Sicanfarhr
(C) it & 3reera
(D) FTAT IR

D

Which of the following is the most important factor in the interaction
between man and environment?

A) Human intelligence

C) People's perception

(A)
(B) Technology
(C)
(D)

D) Human brotherhood
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51. afadig Hehouedl H fohd Tcsh Sl HAgcaqul AT T § ?
(A) TThide Teh

(B) AIET Gewh

(C) (A) wa (B) ak=t

(D) 373 | HIg Tl

Which component is considered important in the concept of determinism?
(A) Natural component

(B) Human component

(C) Both (A) and (B)

(D) None of these

52. far=Ifalf@d # Sl AIT BHS AT g ?
(A) T
(B) 3§
(C) et

(D) &3

Which of the following is not a plantation crop?
(A) Coffee

(B) Wheat

(C) Sugarcane

(D) Rubber
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53. [AFATai@d & iad wrafies hameara g ?

(D) SIC 3¢aMT

Which of the following is a primary activity?
(A) Farming

(B) Trade

(C) Weaving

(D) Jute industry

54. TaoT A8 SAisdr ¢
(A) fRee HETETR T wRIid HEER &

(B) WM HETERR &I 3cifcsd HZENER o

(C) 3fcdlifcer HABHIR &I 3Mhfesdh HEENER o

(D) *fTel AER &I ALY AER &

Suez Canal connects

(A) Indian ocean with Pacific ocean
(B) Pacific ocean with Atlantic ocean
(C) Atlantic ocean with Arctic ocean

(D) Red sea with Mediterranean sea
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55. SdTell FHTYeg S HedWISe §aTs HSeT &
(A) 3nf3em &

(B) ufRga sorrel H

(C) FERTST A

(D) oI A

Netaji Subhash Chandra Bose International Airport is in
(A) Odisha

(B) West Bengal

(C) Maharashtra

(D) Gujarat

56. ¢ & g 94T 9 forg gfasa & 3mAem ?

Village settled along a river will come under which pattern ?
(A) Rectangular

(B) Radial

(C) Circular

(D) Linear
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57. AFATaf@d # @i gEY 36N & fAIT Sedl AT dIR LTl g ?
(A) TR 3T

(B) FCR 3T

(C) Taeoe e

(D) B¢ YATA T 3TNT

Which of the following produces raw material for other industries?
(A) Basic industry

(B) Cottage industry

(C) Footloose industry

(D) Small-scale industry

58. feifehd & @l Jciger fohamehe™ & 2
(A) Tdr

Which of the following is a tertiary activity?
(A) Farming
(B) Trading
(C) Weaving

(D) Hunting
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59. fArIfaf@d & Hid gfadas fwarherg =g g ?
(A) S TehgaAT
(B) g WeTele
(C) T&x fasAor
(D) SR F<ATAT

Which of the following is not a secondary activity?
(A) Catching fish

(B) Iron smelting

(C) Making garments

(D) Making basket

60. TT=H-FEICANT FTIHE FETHAET sl §
(A) depe’ T T Siled &
(B) T9Tg I wgrET ¥

(C) TUSHIeed HI Ul &

(D) 3IfdeT &I Feldlel &

The Trans-Continental Stuart Highway connects
(A) Vancouver with St. John's

(B) Chengdu with Lhasa

(C) Edmonton with Anchorage

(D) Darwin with Melbourne
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61. TTAT Ag< SISl g

(A) 9RIed FAGNTTR ! fgog HEERR 4
(B) FifeaeT PR & AfFger $r @Er &
(C) WRITed HGNAPR HI Hcolliceh AGNER
(D) 3cdifece HFHNWR ol fgog FEHNWR &

Panama canal connects.

(A) Pacific ocean with Indian ocean
(B) Caribbean sea with Gulf of Mexico
(C) Pacific ocean with Atlantic ocean

(D) Atlantic occan with Indian ocean

62. favg & yHE FHAT Ua &
(A) AQAT Tt

Main seaports of the world are
(A) Naval ports

(B) Qil ports

(C) Comprehensive ports

(D) Industrial ports
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63. TArATaf@d FAgredal # frad favg SYUR &1 Falte Yarig giar g ?
(A) TfRrar
(B) 3 3rARGAT

Which of the following continents has the maximum flow of global trade?
(A) Asia

(B) North America

(C) Europe

(D) Africa

64. AIHS Silg 3T a7 TUT §
(A) HERTSE A

(B) sR@s #

(C) AL yeer &

(D) oirEeTe A

Noamundi iron ore region is located in
(A) Maharashtra

(B) Jharkhand

(C) Madhya Pradesh

(D) Chhattisgarh
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65. IRd # gRd Hifd UF g5 A
(A) 1950 & gersh H
(B) 1960 & gersh H
(C) 1970 & &
(D) 1980 o G2k H

Green revolution was started in India in
(A) 1950's
(B) 1960's
(C) 1970's
(D) 1980's

66. slcTehlcl Udel FEUd &
(A) Felled &

(B) 3nfsam &

(C) ¥er &

(D) URR=H SmeT &

Kolkata port is located in
(A) Karnataka

(B) Odisha

(C) Kerala

(D) West Bengal
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67. faefaf@d Aot & & &l ag ST=g =gl & ?
(A) T HhAUT

(B) AFeSH MY

(C) 3faar

(D) eaTd«Tell MY

Which of the following diseases is not airborne ?
(A) Respiratory infection

(B) Conjunctivitis

(C) Diarrhoea

(D) Bronchitis

68. SToileT & Il & & Thgl Sl &

The coffee region of Brazil is called
(A) Fazenda

(B) Agenda

(C) Milpa

(D) Ladang
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69. AT ATFCIAX Tehellehl UTh AU §
(A) TafFRa H
(B) &ailcah H
(C) 31T vcer &
(D) dffAerTg A

Manipal Software Technology Park is situated in
(A) Sikkim

(B) Karnataka

(C) Andhra Pradesh

(D) Tamil Nadu

70. AT & Faifees Jgi¥d #dr Sl § ?
(A) Tt

Which of the following is the most polluted river ?
(A) Ravi

(B) Godavari

(C) Brahmaputra

(D) Yamuna
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gus § /| SECTION - B

o 3T 92T / Short Answer Type Questions

gesT HEAT 1 @ 20 o 3a9T § | fhegl 10 weall & 3 & | yds & fav 2
3 AuiRa § |

Question Nos. 1 to 20 are Short Answer Type. Answer any 10
questions. Each question carries 2 marks.

1. AGRTSE & IR YW AT a&F 3T sheal & A ford |

Name four important centres of cotton textile industry of Maharashtra.

2. TAR ¥ 39 A7 A ¢ ?

What do you mean by communication ?

3. STol HIOT YaeeT T g ?

What is watershed management?

4. ART & IR Ag-3TTH 3cUieah Ul & 1 QU |

Write the names of four iron ore producing states of India.

5. AT 3Nl I IR ffFT |

Define Human Geography.

6. SIwH X IR FcG X H ek TS RV |

Distinguish between birth rate and death rate.
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7. FFd SUAR T4 g ?

What is free trade?

8. IR # "ed fAY fAMEAUrd & a1 RO & oo™ RAT |

Mention two reasons of declining child sex ratio in India.

9. folaT-3rguTd ¥ AT ST & ?

How is sex-ratio measured?

10. 3R & IMUR W 39Nl Hr Faffpd HIfST |

Classify industries on the basis of size.

1. 9RA & IR 97T A gerit & A1 d3v |

Name four industrial regions of India.

12. ¥R # URAET & HET FIEe Hie g ?

Which are the main means of transportation in India?

13. gl ST IR™T &F JAT o ST AT &F H 3ead] TASC hi |

Distinguish between net sown area and gross sown area.

14. &afd 9equUT & IR FIdl HT 3ol &Y |

Mention four sources of noise pollution.
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15. 3NNTC TFaYH AT § ?

What is Orient express ?

16. Sgd STANI & Hgcd & 3oold &Y |

Mention the importance of the Danube waterway.

17. AT fashra & a1 Hemsd &7 &l q § ?

Which are the two basic regions of human development ?

18. 3M9arT 3R 3c9ard #H 3eal TISC HY |

Differentiate between immigration and emigration.

19. 37hT AHTSTH FAT & 2

What is digital divide ?

20. YRHAGIGATT ISTHTT AT & ?

What is trans-continental railway?

& 398 99T / Long Answer Type Questions

g TEAT 21 ¥ 26 &9 3707 § | fFegl fid 9eall & 3R & | 93+ & fu
5 37 TuiRa § |

Question Nos. 21 to 26 are Long Answer Type. Answer any three
questions. Each question carries 5 marks.
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21. TG TR IR i qR[UTe H 3dT AT |

Differentiate between nomadic herding and commercial livestock rearing.

22. oS SAUR H T AgY AT & Hged &l Juled HITAT |

Describe the importance of Suez canal route in international trade.

23. eraeier gt & e sfEaal fir ATt fr [agar fifsw |

Discuss the problems of urban settlements in developing countries.

24. AR H YT & 3c9iGe U9 [daRoT & f[9avor ¢ |

Give an account of production and distribution of paddy in India.

25. FoiT & IURIRS Fdi ST T HfaT |

Discuss the non-conventional sources of energy.

26. IRT & AART Fa80 3R F=afaf@a # weitia Hifew
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Draw a map of India and show the following:

(A) Udaipur

(B) Shimla

(C) Bhubaneshwar
(D) Hyderabad

(E) Narmada river.
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